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A protractor is a semi-circle of radius 6.1 cm.
Calculate the perimeter of the protractor.
ARSWeF ..o cm [3]
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A, B and C lie on a circle with diameter BC.
(i) Find the value of y.
Answer(d)(1) ¥ = cociiiiiiiieeeie e [2]

(i) Write down the mathematical name for the straight line AB.

Answer(d)(11) oo [1]
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O is the centre of the circle.
Measure the diameter of this circle.
Give your answer in millimetres.

Answer(a)

(b) Acircular dinner plate has radius 12.7 cm.

Work out the area of the plate.

Answer(b)
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4, B and C are points on the circumference of a circle centre O.
AC is a straight line.

(a) Explain whyvang]e ABC is 90°.
Answer(a)
(b) The diameter of the circle is 3 cm.

Calculate the area of this circle.
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The diagram shows a circle, centre O.
P, Q and R are points on the circumference.
PO=17cmand QR=9cm.
(a) Explain why angle POR is 90°.
BBSVICP(UL) smmonasss 53535 5208055 0wty ' SO S RS S S S A5 S b
............................................................................................................................................................. [1]
(b) Calculate the length PR.
Answer(b) PR= ....cccccooveveeieiaieereeeenea, cm [2]
[ LTI —
For
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The perimeter of the rectangle is the same length as the circumference of the circle.

Calculate the radius, r, of the circle.

vy

Answer r = cm [3]

--------------------------------
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The diagram shows a circle with diameter AB and centre O.
C is a point on the circumference of the circle.

(@) Explain how you know that angle ACB is 90° without having to measure it.
AMSRVRTYT)  cxres oot sn sssonesssss oo wpesmasesss ssamses s A SESHERS Sy 9P SIS PEAIEAS eSS [1]
(b) AB=13cmand AC = 5cm.

Calculate the length BC.

Answer(b) BC= ......ccccooveveveeeeeeeeeeeeen, cm [3]

(¢) Calculate angle ABC.

Answer(c) Angle ABC = ........c.cooouerevvveceeeieeeeeereeeenn [2]
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A, B and C lie on a circle with diameter 4B.
Angle CAB =32°, AC = 8cm and BC = S5cm.

(a) Work out the size of angle CBA.

Answer(a) Angle CBA =

(b) Work out the length of 4B.

Answer(b) AB =

© UCLES 2014 0580/13/0/N/14 [Turn over
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A

In the diagram, 4B is a diameter of the circle and C is a point on the circumference.
AB=17cm and AC = 6cm.

(a) Calculate the area of the circle.

ANSWEP(Q) oo cm? [2]
(b) (i) Explain why angle ACB = 90°.
ARSWEP(B)(1) ..o [1]
(i) Calculate BC.
Answer(b)(ii) BC = ..ccooeeveveeeeeeeeeeeee, cm [3]

© UCLES 2013 0580/13/M71/13
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In the diagram, AP is a tangent to the circle at P.
O is the centre of the circle, angle 240 =37° and AP = || cm.
(a) Write down the size of angle OPA.
Answer(a) Angle OPA = ..........c.cooovveecomoeoeeo) [1]
(b) Work out the radius of the circle.
Answer(b) ..o, cm [2]
© UCLES 2015 0580/1L/ON/15 _ [Turn over

e
Mob: +874 553738721 32787560
E-mail:chymre.m x.)\a«:",n-,zd@)gn\mkc?x:\_j




. 3)-T—132
11 ' NOT TO
SCALE

(>c o

A

A and B lie on a circle, centre O.
AC and BC are tangents to the circle.

Find the value of u.

ANSWEr(€) U= . ..coociiiiieeeeoeeeeeeeeaerneea s 2]
C NOT TO

The points B, C, D and E lie on a circle.

AB and AC are equal length tangents to the circle.

BD is a diameter of the circle and BC is parallel to ED.
Angle BDE = 24°.

Calculate the value of

@ x

AnSWer(c) X = oo, (2]
(b) v,

ANSWEr(B) Y = oo [1]
(¢) =z

ANSWeEr(C) Z= ..o [2]
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Work out the value of x.

X fsstcosuenssiivnisnesernrannensssnpernassussusss [1]
(b)
............................................................................................................... [2]
(©
NOT TO
SCALE
In the diagram, P7 is a tangent to the circle at P.
PW is a diameter and angle TPQ = 42°.
Find
(i) angle WPQ,
ABEIE WPO = icnccicameenermaneysermmssman sessssmms senssas [1]
(i) angle PWQ.
Angle PWQO = oo [1]

© UCLES 2016 0580/11/0/N/16
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A

A, B and C are points on the circumference of a circle with diameter 45.
A tangent is drawn at 4.

Find

(a) angle BAC,

(b) angle 4ABC.

Angle ABC =

© UCLES 2017 0580/12/M/J/17
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AC is a diameter of a circle, centre O.

BCD is a tangent to the circle and E is a point on the circumference.
Angle ECD = 58°.

Work out the value of

(a) x,
Answer(@) x = [2]
(b) y.
Answer(B) y = s (2]
© UCLES 2012 0580/12/M/J/12
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1 & (a) Aregular polygon has 9 sides. For
For this polygon, calculate EMZZZWS
(i) the size of one exterior angle,
Answer(a)(1) .coooeveeeeeeeeeeeeeeeeeeeee, 2]
(ii) the size of one interior angle.
............................................... [1]
(b)
NOT TO
SCALE
In the diagram, 4, B, C and D are points on the circumference of a circle, centre O.
AB is the diameter and EF is a tangent to the circle at 4.
AB is parallel to DC and angle ACD = 24°.
Find
@ w,
Answer(b)(1I) W= ...ccocovviiiiecoeeeeeeeeeeeeren, [1]
(i) x,
Answer(B)(11) X = ..ooooveeriieieeeeeeeeeeeee e, [1]
(iii) y.
Answer(B)(1I1) ¥ = .ocveveeeieeeeeeeeeeeeeeeeeeea [1]
(¢) Complete the statement.
TS iiisictansesssnenanesnevsnenas DBOHIMSS! consss ey reres sassmss s exsnsssses sxasmessse s s 4824 Smmmm  eommets  mssasmn
................................................................................................................................................... [2]
0580/33/0/N/13 [Turn over
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Points 4, B and C lie on a circle with centre O.
DA is a tangent to the circle at A.
Angle BAC = 35° and angle ADC = 52°.
() Write down the size of angle ABC giving a reason for your answer.
Answer(c)(i) Angle ABC = .............. DEBRUSE wsoussoummssssssessmmanss versensans i secsaissmssssssesssonts
........................................................................................................................................... [2]
(i) Work out the size of angle BCA.
Answer(c)(it) Angle BCA = ..o [1]
(iii) Work out the size of angle BCD.
Answer(c)(iii) Angle BCD = ........cccovveeeeeeeeeeeeeseererereann, [3]
Mob: +074 55373670 / 22787500
E-mail:chymrc.mubrmmad@gmall.com
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A, B, C and D are points on the circumference of a circle, centre O.
EF is a tangent to the circle at 4.
GH is a straight line through the point 4.
Angle CBD = 24° and angle OAG = 78°.
(@) (i) Write down the mathematical names of lines BC and OA.
Answer(a)(1) BC IS @ oo oo
OA TS @ ot [2]

(i) Find the value of x, giving a reason for your answer.

Answer(@)(il) X = ....ccecevevvieeennn. DECAUSE ...,
........................................................................................................................................... [2]
(iii) Find the value of y, giving a reason for your answer.
Answer(a)(iil) V= ......ccccevveivrrnnnnn, DECAUSE oot
........................................................................................................................................... [3]
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A, B, C, D and E are points on the circumference of a circle, centre O.
GAF is a tangent to the circle at 4.
AB is parallel to EC and AB = AD.

(a) Write down the mathematical name of triangle 4BD.

E-mail:chymre.muta
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(b) Find the value of

@ a

S

(i)

(iv) d,

A= ettt [1]
V) e ’
€ T s [2]
(¢) The diameter, AC, of the circle is 13 cm.
Calculate the circumference of the circle.
Give your answer correct to 1 decimal place.
............................................ cm [3]

Question 9 is printed on the next page.
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The diagram shows a circle with centre O.
ED is a tangent to the circle at C.
AB is parallel to £D and angle ACO = 24°.

Find the value of

@ x,

Answer(a) x =

(b) y.

Answer(b) y =

© UCLES 2014 0580/11/O/N/14
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The diagram shows a circle, centre O with diameter AB = 15cm.
AC is a tangent to the circle at 4 and angle AOC = 63°.

(a) Calculate the area of the circle.

ARSWEP(Q) oo, cm” [2]

(b) () Work out the size of angle 4CO.

Answer(b)(i) Angle ACO = .........cccoovveeeeeeroeceeseee, [2]
(i) Give one geometrical reason for your answer to part (b)(i).

ARSWEF(D)(I1) ooviriiie e

Moh: +974 5537387¢/ 3'_*,
E-matl:chymre.muhammadigmeall.cos
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2 2 ° (a) The diagram shows a circle, centre O.
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Write down the mathematical name of the line
(i) OD,
Answer(@)(i) .coeeevveeieeeeeeeeeeen [1]
(ii) BC.
ARSWer(@)(I1) cocovevveienieeeeeeeeeeeeeeee e [1]
(b)
C
A G
NOT TO
SCALE
65°
E F
B D

The diagram shows a circle with diameter EF.
AEB is a tangent to the circle at E.
CD is parallel to 4B and angle EFG = 65°.

Calculate the size of the following angles, giving a reason for each answer.

(i) Angle EGF = .................. DECAUSE ...ttt es [2]
(i) Angle GEF= .......c.......... DECAUSE ...ttt [2]
(ili) Angle AEG = ................... DECAUSE ...ttt ettt et e e e e e st [2]
(iv) Angle EGD= ................... DECAUSE ... [2]

© UCLES 2015 0580/33/0/N/15 [Turn over
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The diagram shows a circle, centre O, with points B and D on the circumference.
The line AC touches the circle at B.
OB is parallel to DC and angle OAB = 49°.
(i) Write down the mathematical name of the line OB.
................................................. [1]
(ii) Write down the reason why angle ABO is 90°.
...................................................................................................................................................... [1]
(iii) Find angle AOB.
Angle AOB = ...cccooovveviieiceeeceevee. [1]
(iv) Write down the reason why angle ADC = angle AOB.
...................................................................................................................................................... [1]
(v) Complete the statement using a mathematical word.
Triangle AOB IS ...c.cooviiiiiiieeeeee e, to triangle 4ADC. [1]

© UCLES 2017
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(vi) AB=54cm )

Calculate
(a) OB,
OB = .o, cm [2]
(b) 04,
OA = i cm [2]
(¢) the arca of triangle AOB.
......................................... cm? [2]

(b) Here is a polygon with 7 sides.

Show that the sum of the interior angles of this polygon is 900°.

(1]

© UCLES 2017 0380/31/MA/17 [Turn over
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